

#### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



#### Form **990-PF**

EXTENDED TO AUGUST 15, 2016
Return of Private Foundation
or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

For calendar year 2015 or tax year beginning		, and ending		
Name of foundation			A Employer identificatio	n number
THE JOSEPH H. & REVA ENGEL	FOUNDATION		63-0989498	3
Number and street (or P O box number if mail is not delivered to stree	t address)	Room/suite	<b>B</b> Telephone number	
P. O. BOX 3128		<u> </u>	(205)221-4	1000
City or town, state or province, country, and ZIP or foreign p	ostal code		C If exemption application is	pending, check here
JASPER, AL 35502-3128			_	
G Check all that apply: Initial return	Initial return of a fo	rmer public charity	D 1 Foreign organization	s, check here
Final return	Amended return		2. Foreign organizations m	eeting the 85% test
Address change	Name change		2. Foreign organizations m check here and attach o	omputation
H Check type of organization: X Section 501(c)(3) e	• •		E If private foundation st	
Section 4947(a)(1) nonexempt charitable trust	Other taxable private founda		under section 507(b)(1	)(A), check here
Fair market value of all assets at end of year J Account	=	Accrual	F If the foundation is in a	
(from Part II, col (c), line 16)  ▶\$ 370,598. (Part I, coli	ther (specify)	nacie i	under section 507(b)(1	)(B), check here
Part I Analysis of Revenue and Expenses	1		( ) A d d d	(d) Disbursements
(The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	for charitable purposes (cash basis only)
1 Contributions, gifts, grants, etc., received	240,500.		N/A	
2 Check In the foundation is not required to attach Sch B				
Interest on savings and temporary cash investments	120.	120	,	STATEMENT :
4 Dividends and interest from securities	2,854.	2,854		STATEMENT :
5a Gross rents				
<b>b</b> Net rental income or (loss)				
6a Net gain or (loss) from sale of assets not on line 10	-3,286.			
b Gross sales price for all assets on line 6a 79,403.				<u> </u>
b Gross sales price for all assets on line 6a 79,403.  7 Capital gain net income (from Part IV, line 2)		0,		
8 Net Short-term capital gain				
9 Income modifications Gross sales less returns				· · · · · · · · · · · · · · · · · · ·
10a and allowances				
b Less Cost of goods sold		•	<u> </u>	
c Gross profit or (loss)				
12 Total. Add lines 1 through 11	240,188.	2,974		
13 Compensation of officers, directors, trustees, etc	0.	0,		
14 Other employee salaries and wages		. <del></del>		
15 Pension plans, employee benefits				
% 16a Legal fees				_
b Accounting fees STMT 3	4,988.	3,741		1,24
c Other professional fees STMT 4		77.		
17 Interest				
b Accounting fees b Accounting fees c Other professional fees STMT 4  17 Interest 18 Taxes STMT 5  19 Depreciation and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications 3 STMT 5	44.	14.		ļ
19 Depreciation and depletion				
20 Occupancy 21 Travel, conferences, and meetings	) <del>  </del>		<del>                                     </del>	<del> </del>
21 Travel, conferences, and meetings 22 Printing and publications 15 5 5 16	S <del>  </del>			<u> </u>
	<u> </u>			
E 23 Office expenses	:		<del>                                     </del>	+
24 Total operating and administrative expenses. Add lines 13 through 23	5,109.	3,832		1 24
25 Contributions, gifts, grants paid	122,820.	5,052	1	1,24 122,82
26 Total expenses and disbursements.	122,020			1 22,32
Add lines 24 and 25	127,929.	3,832		124,06
27 Subtract line 26 from line 12:		- 1		
a Excess of revenue over expenses and disbursements	112,259.			
b Net investment income (if negative, enter -0-)		0		
c Adjusted net income (if negative, enter -0-)			N/A	

LHA For Paperwork Reduction Act Notice, see instructions.

Form 990-PF (2015) THE JOSEPH H. & REVA ENGEL FOUNDATION 63-0989					
P	art	Balance Sheets   Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year  (a) Book Value	End of (b) Book Value	<u> </u>
_	T .		(a) DOOK Value	(b) Book Value	(c) Fair Market Value
		Cash - nòn-interest-bearing Savings and temporary cash investments	95,853.	196,971.	196,971.
		Accounts receivable	33,633.	130,3/1.	190,9/1.
	"	Less; allowance for doubtful accounts			
	4	Pledges receivable			
	•	Less: allowance for doubtful accounts			
	5	Grants receivable			<del></del> -
	6	Receivables due from officers, directors, trustees, and other			<del></del>
		disqualified persons			
	7	Other notes and loans receivable			
		Less: allowance for doubtful accounts ▶			
ş	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
¥	10a	Investments - U.S. and state government obligations			
	b	Investments - corporate stock STMT 6	124,343.	118,782.	132,486.
	C	Investments - corporate bonds STMT 7	25,048.	41,753.	41,141.
	11	Investments - land, buildings, and equipment basis			
		Less accumulated depreciation			
	12	Investments - mortgage loans			
	13	Investments - other			
	14	Land, buildings, and equipment: basis			
		Less accumulated depreciation			
	1	Other assets (describe	3.	0.	0.
	16	Total assets (to be completed by all filers - see the	245 247	357 506	270 500
_	47	Instructions. Also, see page 1, item I)	245,247.	357,506.	370,598.
	1	Accounts payable and accrued expenses			
	18	Grants payable Deferred revenue			
Liabilities	19				
Ē	20	Loans from officers, directors, trustees, and other disqualified persons  Mortgages and other notes payable			
Ξ.		Other liabilities (describe )			
		The induminos (describe			
	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
		and complete lines 24 through 26 and lines 30 and 31			
or Fund Balances	24	Unrestricted			
<u>a</u>	25	Temporarily restricted		·	
Ва	26	Permanently restricted [			
핕		Foundations that do not follow SFAS 117, check here			
Ē		and complete lines 27 through 31.			
tso	27	Capital stock, trust principal, or current funds	245,247.	357,506.	
SSe	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
Net Assets	29	Retained earnings, accumulated income, endowment, or other funds	0.	0.	
Ž	30	Total net assets or fund balances	245,247.	357,506.	
	21	Total liabilities and net assets/fund balances	245,247.	357,506.	
	art			337,300.	
=					
1		I net assets or fund balances at beginning of year - Part II, column (a), line	30		245 245
^		st agree with end-of-year figure reported on prior year's return)		1	245,247.
		r amount from Part I, line 27a r increases not included in line 2 (itemize)		2	112,259.
		lines 1, 2, and 3		3	<u>0.</u> 357,506.
		eases not included in line 2 (itemize)		4 5	357,500.
		I net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	lumn (b), line 30	6	357,506.
<u>-</u>		Turing to		1.91	Form <b>990-PF</b> (2015)

2

2 Total of line 1, column (d) 5 Multiply line 4 by line 3 5 432,206. Enter 1% of net investment income (1% of Part I, line 27b) 6 0. 432,206. Add lines 5 and 6 7

Enter qualifying distributions from Part XII, line 4 If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

Form **990-PF** (2015)

124,067.

8

See the Part VI instructions.

523521 11-24-15

	n 990-PF (2015) THE JOSEPH H. & REVA ENGEL FOUNDATION 63-09			Page 4
Pá	art VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - se	e instr	uctio	ns)
18	Exempt operating foundations described in section 4940(d)(2), check here  and enter "N/A" on line 1.			
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)			
ŧ	Domestic foundations that meet the section 4940(e) requirements in Part V, check here  and enter 1%			0.
	of Part I, line 27b			
c	: All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
3	Add lines 1 and 2			0.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-			0.
6	Credits/Payments;			
а	2015 estimated tax payments and 2014 overpayment credited to 2015			
b	Exempt foreign organizations - tax withheld at source			
C	Tax paid with application for extension of time to file (Form 8868)			
d	Backup withholding erroneously withheld 6d			
	Total credits and payments. Add lines 6a through 6d			0.
	Enter any <b>penalty</b> for underpayment of estimated tax. Check here if Form 2220 is attached 8			
	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			0.
	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid			
	Enter the amount of line 10 to be: Credited to 2016 estimated tax			
	rt VII-A Statements Regarding Activities			
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in		Yes	No
	any political campaign?	1a		X
Ь	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?	1b		X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or			
	distributed by the foundation in connection with the activities			
c	Did the foundation file Form 1120-POL for this year?	1c		X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			
	(1) On the foundation. ▶ \$ 0 . (2) On foundation managers. ▶ \$			1
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			
	managers. ▶ \$ 0 •			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		X
	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or	ŀ		ł
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3		X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		X
b	If "Yes," has it filed a tax return on Form 990-T for this year?  N/A	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		
	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			
	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law			
	remain in the governing instrument?	6	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	7	X	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)			1
	AL			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			
	of each state as required by General Instruction G? If "No," attach explanation	8b	X	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar			
	year 2015 or the taxable year beginning in 2015 (see instructions for Part XIV)? If "Yes," complete Part XIV	9		X
	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses	10		X
		orm 990	-DF	

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?
 b If "Yes," did it have excess business holdings in 2015 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C.

of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2015)

N/A

Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.

b Did the foundation invest ouring the year any amount in a manner that would jeopardize its charitable purposes?
 b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2015?

Form **990-PF** (2015)

X

X

1c

2b

3b

4a

Form 990-PF (2015) THE JOSEPH H. & REVA ENG			63-09894	98 Page 6	
<ul> <li>5a During the year did the foundation pay or incur any amount to: <ol> <li>Carry on propaganda, or otherwise attempt to influence legislation (section).</li> <li>Influence the outcome of any specific public election (see section 4955); or any voter registration drive?</li> <li>Provide a grant to an individual for travel, study, or other similar purposes.</li> <li>Provide a grant to an organization other than a charitable, etc., organization 4945(d)(4)(A)? (see instructions).</li> <li>Provide for any purpose other than religious, charitable, scientific, literary, the prevention of cruelty to children or animals?</li> <li>If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify unsection 53.4945 or in a current notice regarding disaster assistance (see instructions).</li> <li>If the answer is "Yes" to question 5a(4), does the foundation claim exemption fexpenditure responsibility for the grant?</li> </ol> </li> </ul>	or to carry on, directly or indirectly or indirectly or indirectly or indirectly or indirectly or indirectly or described in sections described in indirectly or indirectl	ectly,  Ye Ye  Ye  for  Ye  In Regulations	<b>▶</b> □	5b	
If "Yes," attach the statement required by Regulations section 53.4945-5(d)  6a Did the foundation, during the year, receive any funds, directly or indirectly, to pay premiums on a personal benefit contract?  b Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract?  If "Yes" to 6b, file Form 8870  7a At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction?  b If "Yes," did the foundation receive any proceeds or have any net income attributable to the transaction?  N/A					
Part VIII Information About Officers, Directors, Trust Paid Employees, and Contractors		inagers, Highly	/		
List all officers, directors, trustees, foundation managers and their  (a) Name and address  LISA R. ENGEL	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances	
3547 KINGSHILL RD BIRMINGHAM, AL 35223	7.50	0.	0.	0.	
ALAN Z. ENGEL 3547 KINGSHILL RD BIRMINGHAM, AL 35223 ANDREA ENGEL HINES	VICE PRES/SEC 1.00 TREASURER/DIR	0.	RECT 0.	0.	
1710 RIDGE ROAD HOMEWOOD, AL 35209	0.25	0.	0.	0.	
2 Compensation of five highest-paid employees (other than those inc	cluded on line 1). If none,	enter "NONE."			
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances	
N/A	0.00	0.	0.	0.	
Total number of other employees paid over \$50,000				0	

Form 990-PF (2015) THE JOSEPH H. & REVA ENGEL FOUNDATION	63-098	39498	Page 7
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highl Paid Employees, and Contractors (continued)	ly		
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."			
, (a) Name and address of each person paid more than \$50,000 (b) Type of ser	vice	(c) Com	pensation
N/A			
			0.
		1	
<del></del>			
Total number of others receiving over \$50,000 for professional services  Part IX-A   Summary of Direct Charitable Activities		<u> </u>	0
<u></u>			<del></del>
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.		Expenses	3
1 N/A			
			0.
2			
3			<del></del>
3			
4		_	
Part IX-B Summary of Program-Related Investments			
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.		Amount	
1 N/A			
			0.
2			
All other program-related investments. See instructions.			
3			
Total. Add lines 1 through 3	<b></b>		0.
		Form <b>990-I</b>	<b>PF</b> (2015)

Note The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment

Form **990-PF** (2015)

5

6

income, Enter 1% of Part I, line 27b

Adjusted qualifying distributions. Subtract line 5 from line 4

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see instructions)

,	(a) Corpus	(b) Years prior to 2014	(c) 2014	(d) 2015
1 Distributable amount for 2015 from Part XI,	Corpus	rears prior to 2014	2014	2010
line 7				18,424.
2 Undistributed income, if any, as of the end of 2015				10,424.
a Enter amount for 2014 only			0.	
b Total for prior years:			<u> </u>	
b rotarior prior years.		0.		
3 Excess distributions carryover, if any, to 2015:				
a From 2010   126, 029.				
b From 2011 229, 410.				
c From 2012 133,509.				
d From 2013 69,750.				
e From 2014 77,794.				
f Total of lines 3a through e	636,492.	:		
4 Qualifying distributions for 2015 from	030,432.			
Part XII, line 4: ▶\$ 124, 067.				
a Applied to 2014, but not more than line 2a			0.	
b Applied to undistributed income of prior			<u> </u>	
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus		0.		
(Election required - see instructions)	0.			
d Applied to 2015 distributable amount	0.			18,424.
e Remaining amount distributed out of corpus	105,643.	·····		10,424.
5 Excess distributions carryover applied to 2015	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a) )	0.			0.
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	742,135.			
<b>b</b> Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of deficiency has been issued, or on which				
the section 4942(a) tax has been previously				
assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2014. Subtract line				:
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2015. Subtract				
lines 4d and 5 from line 1. This amount must				_
be distributed in 2016				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			144
8 Excess distributions carryover from 2010	106 000			
not applied on line 5 or line 7	126,029.			
9 Excess distributions carryover to 2016.	616 105			
Subtract lines 7 and 8 from line 6a	616,106.			
10 Analysis of line 9:				
a Excess from 2011 229, 410.				
b Excess from 2012 133,509.				
c Excess from 2013 69,750.				
d Excess from 2014 77,794.				
e Excess from 2015 105,643.		. <u>.</u>		5 000 DE (00.45)

523581 11-24-15

	art XIV   Private Operating Fo	EPH H. & KE	SVA ENGEL FO	ONDATION  A guestion 9)		-0989498 Page 10
_		·		-A, question 9)	N/A	
1	a If the foundation has received a ruling of					
	foundation, and the ruling is effective for		-		40.40(.)(0)	1040(1)(5)
	Check box to indicate whether the found		n <u>g roundation described i</u> T	Prior 3 years	4942(j)(3) or L	4942(j)(5)
2	Enter the lesser of the adjusted net	Tax year (a) 2015	(b) 2014	(c) 2013	(d) 2012	(e) Total
	income from Part I or the minimum	(4) 2010	(0) 2014	(6) 2010	(4) 2012	(0) 10121
	investment return from Part X for					
	each year listed			-	1	-
	b 85% of line 2a				-	
1	Qualifying distributions from Part XII,					
	line 4 for each year listed				<u>-</u>	
	d Amounts included in line 2c not					
	used directly for active conduct of				-	
	exempt activities				<u> </u>	
	e Qualifying distributions made directly				İ	
	for active conduct of exempt activities.		Ì			
3	Subtract line 2d from line 2c Complete 3a, b, or c for the				-	
3	alternative test relied upon:				1	
	a "Assets" alternative test - enter:					
	(1) Value of all assets					
	(2) Value of assets qualifying					
	under section 4942(j)(3)(B)(i)					
	b "Endowment" alternative test - enter 2/3 of minimum investment return					
	shown in Part X, line 6 for each year					
	listed					
	c "Support" alternative test - enter:					
	(1) Total support other than gross investment income (interest,					
	dividends, rents, payments on					
	securities loans (section					
	512(a)(5)), or royalties)				-	
	(2) Support from general public and 5 or more exempt					
	organizations as provided in					
	section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from					
	an exempt organization		<del> </del>		<del> </del>	
Б	(4) Gross investment income art XV Supplementary Info	rmetion (Comple	to this part only	if the foundation	had \$5 000 a	r more in cocete
	at any time during t			ii tiie iouiidatioi	1 Hau \$5,000 C	n more in assets
_						·
1	Information Regarding Foundation  List any managers of the foundation who	_	than 2% of the total cont	ributions received by the	foundation hafora t	the close of any tay
	year (but only if they have contributed m			ributions received by the	Houridation before t	He close of ally tax
ΔТ	AN Z. ENGEL	.,,,	( // //			
	b List any managers of the foundation wh	o own 10% or more of th	ne stock of a cornoration (	or an equally large ports	on of the ownership	of a partnership or
	other entity) of which the foundation has			or air equally large porti	on or the ownersing	or a partitionally of
NC	ONE					
2	Information Regarding Contributi	ion Grant Gift Loan	Scholarship etc Pr	ourame.		
_	Check here <b>X</b> if the foundation o				not accept unsolicite	ed requests for funds. If
	the foundation makes gifts, grants, etc.					
_	a The name, address, and telephone num	•				· · · · · · · · · · · · · · · · · · ·
N		but of a man address of	ше рогоон то чтот арри			
-1,						
_	b The form in which applications should b	ne submitted and informa	ition and materials they st	ronly include.		
N		o debinition and informa	and in a material and and y or	iodia moidao.		
_	c Any submission deadlines:	<del></del>	<del></del>	<del>-</del>		
N						
	d Any restrictions or limitations on awards	s, such as by geographic	al areas, charitable fields	kinds of institutions or	other factors	
N	· · · ·	s, caon as by goograpino	ar arous, onal lable nells,	mindo of moditudiono, Of	outor 1400013.	
-4/						
523	801 11-24-15			_		Form <b>990-PF</b> (2015)
						•

Supplementary information				
3 Grants and Contributions Paid During the	Year or Approved for Future	Payment	<u> </u>	
Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
<del></del>	or substantial contributor	recipient		
a Paid during the year				
				ļ
		Ì		
SEE STATEMENT C-1	N/A	PUBLIC	VARIOUS	
				122,820.
				ĺ
		-	-	
Total		· · · · · · · · · · · · · · · · · · ·	<b>▶</b> 3a	122 820.
b Approved for future payment				
NONE				
1101111				
				_
Total		-l	▶ 3b	0.
		<del></del>	_ ≥ 30	000 DE (0045)

Talk Avi-A   Alialysis of income-Floadching Activities	Part XVI-A	Analysis of	<b>Income-Producing</b>	<b>Activities</b>
--	------------	-------------	-------------------------	-------------------

ter gross amounts unless otherwise indicated.	Unrelated t	ousiness income		y section 512, 513, or 514	(e)
•	(a) Business	(b)	(C) Exclu-	(d)	Related or exempt
Program service revenue:	code	Amount	sion code	Amount	function income
a					
b					
c					
d					
e					
f					
g Fees and contracts from government agencies					
Membership dues and assessments					<del></del>
Interest on savings and temporary cash					
investments			14	120.	
Dividends and interest from securities			14	2,854.	
Net rental income or (loss) from real estate:					
a Debt-financed property					
<b>b</b> Not debt-financed property					
Net rental income or (loss) from personal	i				
property					
Other investment income					
Gain or (loss) from sales of assets other			1.0	2 206	
than inventory			18	-3,286.	
Net income or (loss) from special events Gross profit or (loss) from sales of inventory	<del> </del>				
Other revenue:		<del></del>			
Other revenue.				-	
b					
· ——					
c		<del>-</del>		+	
e					
Subtotal. Add columns (b), (d), and (e)			0.	-312.	(
Total. Add line 12, columns (b), (d), and (e)	<u> </u>		<del></del>	13	-31
ee worksheet in line 13 instructions to verify calculations	:.)				
Part XVI-B Relationship of Activitie		nlishment of	Evernt D	Imoses	
nelationship of Activitie		ipiisiiiileiit Ol	Exempt P		
ine No Explain below how each activity for which i				importantly to the accomp	lishment of
the foundation's exempt purposes (other t	han by providing funds	for such purposes)	•		
N/A					

Line No	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes).
	N/A

Form 990-PF		OSEPH H. & REV			<u>63-098</u>			ige 13
Part XV	II Information Re Exempt Organ	egarding Transfers To nizations	and Transactions	and Relations	hips With Noncha	ritable	е	
1 Did the	orgànization directly or indi	rectly engage in any of the follow	ring with any other organizati	ion described in sect	ion 501(c) of		Yes	No
the.Co	de (other than section 501(c	(3) organizations) or in section	527, relating to political orga	nizations?				
a Transfe	ers from the reporting found	ation to a noncharitable exempt o	organization of:					
(1) Ca	ısh					1a(1)		X
(2) Ot	her assets					1a(2)		X
<b>b</b> Other t	ransactions:							
(1) Sa	iles of assets to a noncharita	ible exempt organization				1b(1)		X
( <b>2</b> ) Pu	ırchases of assets from a no	incharitable exempt organization				1b(2)		X
( <b>3</b> ) Re	ental of facilities, equipment,	or other assets				1b(3)		X
(4) Re	eimbursement arrangements					1b(4)		X
<b>(5)</b> Lo	oans or loan guarantees					1b(5)		X
( <b>6</b> ) Pe	erformance of services or me	embership or fundraising solicitat	tions			1b(6)		X
		uling lists, other assets, or paid e				1c		X
		"Yes," complete the following sci					sets,	
		oundation. If the foundation rece		ue in any transaction	or sharing arrangement, s	show in		
		other assets, or services received						
(a) Line no	(b) Amount involved	(c) Name of noncharitat	ole exempt organization	(d) Description	of transfers, transactions, and	sharing ar	rangeme	nts
		N/A						
			<del></del>					
		<u></u>						
			·					
			·					
					<del></del>			
-								
-								
			·					
					<del></del>			
			<del></del>					
		tly affiliated with, or related to, or		izations described	г	<b>–</b> 1	( ==	٦
		r than section 501(c)(3)) or in se	ction 5277		L	Yes	LX	No
b it Yes,	complete the following sch. (a) Name of org		(b) Type of organization		(c) Description of relations	hin		
	N/A	Janization	(b) Type of organization		(C) Description of relations	ilip		
	N/A	<del></del>						
			<del> </del>	ļ-				-
					<del></del>			
					<del></del>			
Un	der penalties of perjury, I declare	that I have examined this return, include	ding accompanying schedules and	d statements, and to the	best of my knowledge			
Sign and	d belief it is true, correct, and cor	mplete Declaration of preparer (other th			retu	y the IRS ourn with th	e prepare	er
Here	um c	mu	18-15-14	Measurer 1	/ 10	X Yes	`	] No
5	Signature of officer or trustee	<del></del>	Date	Title	L	163		
	Print/Type preparer's na	ame Preparer's	signature	Date	Check If PTIN			
		1	1		self- employed			
Paid	STEPHEN M.	BERMAN MANUAN	Dunea Ch	8/8/16	P0	0031	703	
Prepare	Firm's name > STE		<del></del>	L.C.	Firm's EIN ► 58-1			
Use On		<b>_</b>	· <b>, -</b> ·					
	Firm's address ▶ 34	75 LENOX ROAD,	N.E., SUITE	950				
		LANTA 30326	-		Phone no. 404-2	<u>62-2</u>	181	

Form **990-PF** (2015)

#### Schedule B (Form 990, 990-EZ,

or 990-PF)
Department of the Treasury

Internal Revenue Service

Name of the organization

#### **Schedule of Contributors**

Attach to Form 990, Form 990-EZ, or Form 990-PF.
 Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.lrs.gov/form990.

OMB No 1545-0047

2015

**Employer identification number** THE JOSEPH H. & REVA ENGEL FOUNDATION 63-0989498 Organization type (check one) Filers of: Section: Form 990 or 990-EZ 501(c)( ) (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization Form 990-PF 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule See instructions General Rule For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. See instructions for determining a contributor's total contributions Special Rules For an organization described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990-EZ), Part II, line 13, 16a, or 16b, and that received from any one contributor, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1 Complete Parts I and II. For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals. Complete Parts I, II, and III. For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions exclusively for religious, charitable, etc., purposes, but no such contributions totaled more than \$1,000 If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions totaling \$5,000 or more during the year Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

Name of organization

Employer identification number

#### THE JOSEPH H. & REVA ENGEL FOUNDATION

63-0989498

Part I	Contributors (see instructions) Use duplicate copies of Part I if add	ditional space is needed	
(a)	(b)	(c)	(d)
No. 1	Name, address, and ZIP + 4  JOSEPH ENGEL REVOCABLE TRUST DTD 6/30/99  505 20TH STREET NORTH, STE. 1150  BIRMINGHAM, AL 35203	* \$	Person X Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
			Person Payroll Complete Part II for noncash contributions.)

Employer identification number

#### THE JOSEPH H. & REVA ENGEL FOUNDATION

63-0989498

Part II Noncash Property (see instructions) Use duplicate copies of Part II if additional space is needed.					
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
		  	- <u></u>		
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received		
523453 10.26		Sahadula P /Farm 9	90. 990-F7. or 990-PF) (2015)		

lame of organiz	ation			Employer identification number			
Part III	EPH H. & REVA ENGEL FO	utions to organizations describe	d in section 501(c)(7), (8), o	63-0989498 r (10) that total more than \$1,000 for			
	the year from any one contributor. Complete col completing Part III, enter the total of exclusively religious, on Use duplicate copies of Part III if additional	charitable, etc., contributions of \$1,000 c	DWING IINE ENTRY. For organization or less for the year (Enterthis into one	ns ► \$			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Desc	cription of how gift is held			
		(e) Transfer of gi					
_	Transferee's name, address, and	.,		nsferor to transferee			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Desc	ription of how gift is held			
	(e) Transfer of gift						
_	Transferee's name, address, and	ZIP + 4	Relationship of tra	nsferor to transferee			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Desc	cription of how gift is held			
-	(e) Transfer of gift						
	Transferee's name, address, and ZIP + 4		Relationship of tra	nsferor to transferee			
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Desc	cription of how gift is held			
_   _		(e) Transfer of gi					
	Transferee's name, address, and	.,		nsferor to transferee			
_							

FORM 990-PF INTERE	EST ON SAVIN	IGS AND TEM	PORARY	CASH IN	VESTMENTS	STATEMENT 1
SOURCE		(A REVE PER B	NUE		(B) VESTMENT COME	(C) ADJUSTED NET INCOME
FIRST NATIONAL BANK	OF JASPER		120.		120.	
TOTAL TO PART I, LI	INE 3		120.		120.	
FORM 990-PF	DIVIDENDS	S AND INTER	EST FR	OM SECUR	ITIES	STATEMENT 2
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDEND	R.	(A) EVENUE R BOOKS	(B) NET INVES MENT INCO	
STATE STREET BANK AND TRUST CO, NOMINEE STATE STREET BANK AND TRUST CO,	773.		0.	773.	77	3.
NOMINEE	2,081.	•	0.	2,081.	2,08	1.
TO PART I, LINE 4	2,854.	=	0.	2,854.	2,85	4.
FORM 990-PF	W- W-	ACCOUNTI	NG FEE	S		STATEMENT 3
DESCRIPTION		(A) EXPENSES PER BOOKS	NET I	B) NVEST- INCOME	(C) ADJUSTED NET INCOM	
ACCOUNTING FEES	_	4,988.	·	3,741.		1,247.
TO FORM 990-PF, PG	1, LN 16B	4,988.		3,741.		1,247.

FORM 990-PF	OTHER PROFES	SIONAL FEE	S		STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS		<b>T</b> -	(C) ADJUSTED NET INCOM	CHARITA	
INVESTMENT ADVISORY FEE -	77.		77.			0.
TO FORM 990-PF, PG 1, LN 16C	77.		77.			0.
FORM 990-PF	TAX	ES			STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS		$\mathbf{T}-$	(C) ADJUSTED NET INCOM		
FOREIGN TAX PAID EXCISE TAX	14. 30.		14.			0.
TO FORM 990-PF, PG 1, LN 18	44.		14.			0.
FORM 990-PF	CORPORAT	E STOCK			STATEMENT	6
DESCRIPTION			воо	K VALUE	FAIR MARKET	Г
BLUESTEIN & COMPANY - NOMINE	E - SEE STAT	EMENT		118,782.	132,4	36.
TOTAL TO FORM 990-PF, PART I	I, LINE 10B	=		118,782.	132,48	86.
FORM 990-PF	CORPORAT	E BONDS			STATEMENT	7
DESCRIPTION			воо	K VALUE	FAIR MARKE	r
BLUESTEIN & COMPANY - NOMINE	E - SEE STAT	EMENT		41,753.	41,1	41.
TOTAL TO FORM 990-PF, PART I	I, LINE 10C			41,753.	41,1	41.

FORM 990-PF

STATEMENT CONCERNING LIQUIDATION, TERMINATION, ETC. - PART VII-A, LINE 5 STATEMENT

#### EXPLANATION

ONCE SETTLED, THE FOUNDATION WILL BE THE RECIPIENT OF 50% OF THE ASSETS IN THE ESTATE OF JOSEPH H. ENGEL. WHEN THE ACCOUNT RECEIVABLE IS ADDED TO THE ASSETS WITHIN THE FOUNDATION, A TECHNICAL TERMINATION IS NOT DEEMED TO HAVE OCCURRED BECAUSE NOT MORE THAN 25% OF THE FAIR MARKET VALUE OF THE ASSETS HAVE BEEN DISTRIBUTED.

#### PORTFOLIO APPRAISAL

### Joseph H. and Reva Engel Foundation (Alan Engel), Lisa R. Engel, Alan Z. Engel and Andrea J. Engel, Directors (HS8621) December 31, 2015

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
COMMON STO	ОСК						
	DISCRETIONARY						
10	Amazon.com Inc	332.52	3,325	675.89	6,759	2.3	0.0
200	Ford Motor Company	16.60	3,320	14.09	2,818	1.0	4.3
100	Hilton Worldwide Hldgs	24.88	2,488	21.40	2,140	0.7	1.3
35	Home Depot Inc	90.59	3,171	132.25	4,629	1.6	1.8
50	Jarden Corp	43.38	2,169	57.12	2,856	1.0	0.0
10	Netflix Inc	107.35	1,073	114.38	1,144	0.4	0.0
50	Starbucks Corp	<i>5</i> 5.71	2,785	60.03	3,002	1.0	1.3
50	Under Armour Inc Cl A	67.54	3,377	80.61	4,031	1.4	0.0
50	Walt Disney Co	96.57	4,828	105.08	5,254	1.8	1.4
			26,537		32,631	11.3	1.0
CONSUMER	STAPLES						
50	Church & Dwight Co	69.77	3 <b>,488</b>	84.88	4,244	1.5	1.6
25	Costco Wholesale Corp	121.89	3 <b>,0</b> 47	161.50	4,038	1.4	1.0
25	CVS Health Corp	104.90	2,623	97.77	2,444	0.8	1.7
			9,158		10,726	3.7	1.4
ENERGY							
35	Exxon Mobil Corp	99.59	3,486	77.95	2,728	0.9	3.7
35	Schlumberger Ltd	105.12	3,679	69.75	2,441	0.8	2.9
			. 7,165		5,170	1.8	3.3
FINANCIALS							
35	Prudential Financial Inc	90.04	3,151	81.41	2,849	1.0	3.4
75	US Bancorp	43.69	3,277	42.67	3,200	1.1	2.4
			6,428		6,050	2.1	2.9
HEALTHCAR	E						
15	Allergan PLC	229.23	3,439	312.50	4,688	1.6	0.0
100	Boston Scientific Corp	17.00	1,700	18.44	1,844	0.6	0.0
50	Bristol-Myers Squibb	53.86	2,693	68.79	3,440	1.2	2.2
25	Gilead Sciences Inc	104.35	2,609	101.19	2,530	0.9	1.7
			10,441		12,501	4.3	1.0
INDUSTRIAL	S						
15	Boeing Co	127.86	1,918	144.59	2,169	0.7	3.0
50	Caterpillar Inc	99.74	4,987	67.96	3,398	1.2	4.5
100	General Electric Co	31.36	3,136	31.15	3,115	1.1	3.0
35	Honeywell International	105.81	3,703	103.57	3,625	1.3	2.3
15	Lockheed Martin Corp	175.15	2,627	217.15	3,257	1.1	3.0
15	Raytheon Co	123.96	1,859	124.53	1,868	0.6	2.2
15	Union Pacific Corp	105.94	1,589	78.20	1,173	0.4	2.8
			19,821		18,605	6.4	3.0

### R. H. BLUESTEIN & COMPANY

#### PORTFOLIO APPRAISAL

# Joseph H. and Reva Engel Foundation (Alan Engel), Lisa R. Engel, Alan Z. Engel and Andrea J. Engel, Directors (HS8621) December 31, 2015

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
TECHNOLO	GY						
	Alphabet Inc Cl C	580.86	2,904	758.88	3,794	1.3	0.0
25	•	100.86	2,522	105.26	2,632	0.9	2.0
50	<del></del>	48.38	2,419	45.24	2,262	0.8	0.7
25	<u> </u>	73.15	1,829	68.72	1,718	0.6	0.0
50	Facebook Inc Cl A	79.21	3,960	104.66	5,233	18	0.0
25	Palo Alto Networks Inc	95.41	2,385	176.14	4,404	1.5	0.0
60	Visa Inc Cl A	56.29	3,377	77.55	4,653	1.6	0.7
			19,397	_	24,695	8.5	0.4
MATERIALS							
50		47.86	2,393	51.48	2,574	0.9	3.6
25	Ecolab Inc	113.91	2,848	114.38	2,860	1.0	1.2
15	Sherwin Williams Co	217.59	3,264	259.60	3.894	1 3	1 0
50	Steel Dynamics Inc	18.86	943	17.87	894	0.3	3.1
			9,447	-	10,221	3.5	1.9
TELECOMM	UNICATION SERVICES						
35	T-Mobile US Inc	40.12	1,404	39.12	1,369	0.5	0.0
UTILITIES							
50	American Water Works	49.38	2,469	59.75	2,988	1.0	2.3
35	NextEra Energy Inc	103.06	3,607	103.89	3,636	1.3	3.0
•			6,076	_	6,624	2.3	2.7
apport a care	TA TIONS						
SPECIAL SIT		000.05	2 222	200.50	2 20 5		
10	AMERCO	290.85	2,909	389.50	3,895	1.3	0.0
			118,782		132,486	45.7	1.5
CORPORATE I							
10,000	AT&T INC (Callable) 2.950% Due 05-15-16	102.33	10,233	100.61	10,061	3.5	0.7
10,000	LOCKHEED MARTIN CORP	101.68	10,168	100.68	10,068	3.5	0.9
	(Callable)						
10.000	2.125% Due 09-15-16	100.45	10.045	22.22	0.000		•
10,000	KROGER CO 1.200% Due 10-17-16	100.45	10,045	99.80	9,980	3.4	0.9
10,000	NORFOLK SOUTHERN CORP	113.07	11 207	100.00	10.000	2.7	
10,000	7.700% Due 05-15-17	113.07	11,307	108.08	10,808	3.7	1.1
	Accrued Interest				223	0.1	
	Accided Microst		41,753	_	41,141	0.1 14.2	0.9
			11,100		11,111	11.2	0.7
CASH/MONEY							_
	Federated Govt Obligations Fund		116,062	•	116,062	40.1	0.0
TOTAL PORTF	OLIO		276,597		289,689	100.0	8.0

## THE JOSEPH H. AND REVA ENGEL FOUNDATION FORM 990 - PF 12/31/2015

RECIPIENT	PURPOSE	AMOUNT
Aish Ha Torah	Religious	500.00
Alabama Possible	Civic	300.00
Alabama Symphony Orchestra	Civic	2,700.00
Alpha Epailon Phi	Educational	25.00
Alys Stevens Center	Civic	2,500.00
Alzheimers Of Central Alabama	Medical	525.00
American Heart Association	Medical	50.00
Audeth Israel Etz Ahayem Synagogue	Religious	18.00
Birmingham First Seventh Day Aventist	Religious	250.00
Birmingham Holocaust Educational Committee	Educational	500.00
Birmingham International Center	Civic	250.00
Birmingham Jewish Federation	Civic	198.00
Birmingham Jewish Foundation	Religious	36.00
Birmingham Museum Of Art	Civic	2,500.00
Birmingham Zoo	Civic	220.00
Bloom Hillel	Educational	180.00
Boy Scouts of America	Civic	100.00
Brith Sholom Beth Israel	Religious	18.00
Chabad Of Alabama	Religious	540.00
Chizuk Amuno	Religious	36.00
Church at Brook Hills	Religious	50.00
Collat Jewish Family Services	Religious	3,018.00
Community Furniture Bank	Civic	50.00
Congregation Beth-El	Religious	100.00
Crippled Children's Foundation	Medical	200.00
Crisis Center	Medical	75.00
Delta Gamma Fraternity	Civic	50.00
Dixie Golf Foundation	Civic	150.00
Emmet O'Neal Library	Educational	25.00
Feeding South Florida	Civic	50.00
Girl Scouts of North Central Alabama	Civic	160.00
Girls Inc.	Civic	500.00
Hadassah	Religious	1,255.00
Heart Gallery Alabama	Medical	100.00
Hispanic Interest Coalition of AL (HICA)	Civic	100.00
Hope Clinic	Medical	50.00
Horizons School	Educational	2,500.00
IMPACT, AL	Civic	500.00
Indian Springs School	Educational	500.00
Institute Of Southern Jewish Life	Civic	250.00
Jewish Women's Fund of Atlanta	Civic	360.00
Jimmy Hale Mission	Civic	100.00
JoAnn Hess Morrison Chai Tots (Jahm)	Educational	590.00
Joint Distribution Committee Knesseh Israel	Civic	1,000.00
Leket Israel	Religious	268.00
	Religious	500.00
Levite Jewish Community	Religious	1,000.00
Magic Moments March of Dimes	Civic	150.00
N E Miles Jewish Day School	Medical	25.00
National Conference for Community and Justice (NCCJ of	Educational	1,200.00
National Fire Safety Council Inc.		1,500.00
Northwestern University	Civic	52.00
NOTCHWESTERN CHINEISILY	Educational	7,500.00

## THE JOSEPH H. AND REVA ENGEL FOUNDATION FORM 990 - PF 12/31/2015

RECIPIENT	PURPOSE	AMOUNT
Oasis	Civic	1,000.00
Pathways	Religious	50.00
Rabbi Graffman Endowment Fund	Religious	100.00
Ransom Everglades School	Educational	50.00
Red Mountain Theatre Company	Civic	5,000.00
Shalom Cares	Civic	25.00
Sidewalk Film Festival	Civic	50.00
Sisterhood Of Temple Beth-El	Religious	309.00
Steve Byars Scholarship Fund	Educational	100.00
Teach for America	Educational	5,000.00
Temple B'nai Sholom	Religious	18.00
Temple Beth El	Religious	823.00
Temple Beth El Tikvah	Religious	36.00
Temple Emanu-El	Religious	716.00
The Exceptional Foundation	Educational	125.00
The Humane Society of the US	Civic	18.00
The Temple	Religious	54.00
The Women's Fund	Civic	5,050.00
Torah Fund	Civic	180.00
UAB Comprehensive Cancer Center	Medical	25.00
UAB Dept. Of Psychiatry	Medical	49,911.75
UAB National Alumni Society	Civic	125.00
United Negro College Fund	Educational	100.00
United States Holocaust Museum	Civic	180.00
University of Alabama	Educational	5,000.00
University of Colorado Foundation	Civic	250.00
Washington University in St Louis	Educational	10,000.00
WBHM Public Radio	Civic	150.00
Women's Jewish Learning Center	Educational	500.00
Yemin Orde	Religious	2,500.00
YWCA	Civic	
		122,819.75